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Answer ALL questions.

PARTA—(10x2=20 marks)

1. What is Macro - economics?

2. Define consumption.

3. What is shift in supply curve?

4. Name some theories about the objectives of a firm.

5.  What is Market skimming?

6. Write down any four adjustments that can be done in balance sheet.
7. Define activity based costing.

8. What is meant by technical feasibility?

9.  Define appraisal.

10. Show a break even chart as a diagram.
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PART B — (5 x 16 = 80 marks)

(1) Explain the scope and significance of managerial economics. ®

(ii) Enumerate the concepts of extension and contraction in demand. (8)

Or
(i) Differentiate monopoly from monopolistic competition. ®
(i) What is . demand forecasting? Explaiﬁ any four methods of
forecasting. _ (8)
Explain the determinants of demand in detail. (16)

Or
Explain the types of competition in detail. (16)
(i) What are the functions of commercial banks in India? 8
(ii) What are the principles underlying cost benefit analysis? Explain
its features. (8)

Or

From the following trial balance of Vikram Foundry Works, prepare
trading account and profit and loss account for the year ending March 31,

2003. Also prepare a balance sheet as on that date. ' (16)

@) Exblain how cost-output relationship helps entrepreneurs in

expansion decisions. (10)

(ii) Explain demand - oriented methods. (6)
Or

(i) What are the factors that determine elasticity of supply? Discuss. (8)

(1) Explain how CBA is useful for policy makers. 8
Explain cost output relationships in detail. (16)
Or

A factory was constructed by a company at a cost of Rs. 10,00,000. The
company is able to sell its products at Rs. 28/- per unit. The variable cost
per unit is Rs. 18/-. If the company can produce 5000 units a month, in
how many years will it break even. If the selling price cannot be
increased due to market sensitivity, but the company wants to break
even in one year, what would be your suggestion? (16)
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